
Description Meas

Qty on 

Hand

DFS HDC BIN DOLLY ASSEMBLY EACH 2

DFS HDC BIN DOLLY ASSEMBLY EACH 2

SUTTLE, CAR EACH 1

O-RING, EONC DOOR CLOSURE, .375"CS DIA, +/- 0.008", 77"MEAN DIEACH 1

SPACER, PTFE 2” NPS X 1/2” THICK RING TYPE EACH 13

SPACER, PTFE 2"NPS X 1-1/2" THICK RING TYPE EACH 12

PIPE, 2" CS LINED SPOOL EACH 2

PIPE, 2" CS LINED SPOOL EACH 2

LAMP, FLUORESCENT, HARSH, ENVIRONMENT BOX 1

BULB, GREEN EACH 2

LIGHT, JERGUSON LEVEL GAGE EACH 2

LIGHT, 2 IN 1 1000 WATT, WORK EACH 1

FABRIC, NEWTEX HI TEMPERATURE, P/N 1100068 YARD 0.12

THREAD, 30/5 KEVLAR, P/N 1400003 LB 5

CABLE, 12F 62.5/125 MIA SERIES 09/98 182 00 B-01, BLACK SPL 1

CABLE, 8 AWG XHHW-2 600V BLACK SPL 1

TANK, ACCUMULATOR 0-3000 PSIG PARKER AB60C3T5A1 EACH 2

SLING, 4 X 3/4" X 9' WIRE ROPE 2 LEG BRIDLE TYPE EACH 3

SLING, 4 X 3/4" X 9' WIRE ROPE 2 LEG BRIDLE TYPE EACH 3

AIR CONDITIONER, WALL MOUNT UNIT EACH 1

SPACER, CARGO EA 6

TUBING CUSTOM INSULATED  BUNDLE, 1.68" DIAMETER, (3) EA 0.25"XEACH 4

TUBING, CUSTOM INSULATED BUNDLE, 1.68" DIAMETER, (3) EA 0.25"XEACH 5

CHARCOAL, SULFER-IMPREGNATED CARBON BAG 36.6

CARBON, SULFUR-IMPREGNATED, DESOREX HGC S 8X16 MESH 500KG BAGSLB 33855

CARBON, SULFUR-IMPREGNATED, DESOREX HGC S 8X16 MESH 500KG BAGSLB 30000

CARBON, SULFUR-IMPREGNATED, DESOREX HGC S 8X16 MESH, FOR HD (SIC)LB 24640

CHARCOAL, ACTIVATED, COCONUT SHELL, SAME AS I/C 27379 LB 1600



CABLE, BICC 12F 6205/25 (UL) TYPE OFNP PUM SERIES, ORANGE SPL 1

CABLE, 8 AWG XHHW-2 600V WHITE SPL 1

CABLE, XLP XHHW-2 8 AWG 600V BLACK SPL 1

CABLE, 1PR20 E34972 CL2, BLUE SPL 1

LIGHT, HIGH BAP, 2 BOXES EA 1

COVER, ALL WEATHER, IN USE, 3 1/8" BOX 7

BALLAST, 2-TUBE 120/277V EACH 5

CONTROL, PHOTO (EYE) EA 4

CASE, MUSHROOM PUSH BUTTON EA 7

HUBS, CONDUIT, 3/4" EA 2

KIT, LAMP, HAL H126, 5V, 12W BLACK EA 1

CLEANER, ULTRASONIC 5510R-MT EACH 1

WHIP, BRAIDED, 3/8" X 36" EACH 24

WHIP, BRAIDED 3/8" X 48" EACH 18

STRAP, NYLON BLACK CABLE, 1/4" X 3/64" X 3/64", 100 PKG EA 4

CHANGER, MINATURE LIGHT PKG 1

INSERT, THREAD, REPAIR, 1-24X .285 EA 1

INSERT, THREAD, REPAIR, 1/4-20 X .375 EA 1

INSERT, THREAD, REPAIR, 5/16-18 X .469 EA 1

INSERT, THREAD, REPAIR, 3/8 X .469 EA 1

INSERT, THREAD, REPAIR, 1/2-13 X .750 EA 2

INSERT, THREAD, REPAIR, 5/8 - 11 X .938 EA 2

INSERT, THREAD, REPAIR, 3/4 - 10 X 1.125 EA 7

INSERT, THREAD, REPAIR, 10 - 32 X .285 EA 1

INSERT, THREAD, REPAIR, 3/4 - 10 X 1.50 EA 1

TUB, PLASTIC EA 1

CADDY,CARRY EACH 6

WRENCH, SWAGELOK, 1/4-1/2-3/8" EA 1

VELOMETER, ALNOR EA 1

TUBING SILICONE ROLL 5

TIMER, STOP WATCH PN 14-649-18 EACH 13.2

BOARD, ULTRASONIC 5510R-MT CLEANER EACH 1

CONDITIONER, TUBE, DYNATHERM EA 1

FLOW TRACKER, 2000 AT EA 2

CLEANER, ULTRASONIC 5510R-MT EACH 1

TUBE, PHOTOMULTIPLIER EACH 1

FLASK, FILTER, 250ML PYREX EA 25.01

NOZZLE, 1/4" NPT 303SS 0/59" ORIFICE SPRAY CO P/N H1/4VV-25055EACH 6

PLUG, PIPE 1" EXPANDABLE RUBBER EACH 5



COVER, THERMOSTAT, PLASTIC SECURITY EACH 1

KIT, TRANFORMER COVER EA 11

COVER, GALVANIZED, RSL-12 EA 1

CABLE, QUICK CHANGE 3-POLE EA 5

BOXES, ELECTRCAL STEEL MISC SIZES EA 1

UNILET, 2" T200-M EA 6

SUPPLY, POWER VON DUPRIN EA 1

INTERRUPTER, GFI, 20 AMP, 125V EA 5

COVER, F/2RCPT EA 1

COVER, RECEPTACLE, ELECTRICAL EA 1

BOX, ELECTRICAL PLASTIC EA 13

UNILET, 2" T200-M EA 6

COVER, RECEPTACLE, 2-GANG, GFCI, VERTICAL MOUNT, RED DOT # 2CKGEA 5

PULLING GRIPS, DIA 2"-2.49" HUBBELL P/N 03310008 EA 12

PULLING GRIPS, HUBBELL P/N 03310007 EACH 8

BOLT, ANCHOR 5/8" X 6" EA 1

BOLT, ANCHOR, 5/8" X 6" BOX 1

BOLT, ANCHOR, 1/2" X 3 3/4" BOX 1

BOLT, ANCHOR, 1/4" X 2 1/4" EA 1

BOLT, ANCHOR, 1/4" X 3 1/4" BOX 5

STUD, ANCHOR BOX 2

LEAD, WELDING SET 2

PLATE,BACK, ELECTRICAL, MISC SIZES EA 8

BOX, JUNCTION, 12 X 12 X 6, P/N 12126SC EA 1

BOX, JUNCTION, 9 X 7 X 5, P/N RJ806HPL EA 1

BOX, JUNCTION, 12 X 8 X 14, TYPE 13-12, LR78446 EA 1

BOX, JUNCTION, 16 X 16 X 10, PLASTIC EA 1

BOX, JUNCTION, 12 X 10 X 6 EA 1

BOX, JUNCTION, 12 X 11 X 6 EA 1

BOX, DISCONNECT, 15 X 7 X 5 SQUARE D EA 1

BOX, DISCONNECT, 13 X 9 X 5, GE EA 1

BOX, DISCONNECT, 18 X 8 X 6, APPLETON, 100 AMP, 3 PHASE EA 1

BOX, DISCONNECT, 22 X 10 X 6, 30 AMP EA 1

BOX, JUNCTION, 7 X 18 X 12, P/N C-SD16126SS EA 1

BOX, JUNCTION, 18 X 18 X 6, HOFFMAN, P/N 87781780 EA 1

BOX, JUNCTION, 12 X 6 X 16, SS EA 1

BOX, JUNCTION, 24 X 20 X 6, LOCKABLE EA 1

BOX, JUNCTION, 14 X 16 X 6 EA 1

BOX, DISCONNECT, 16 X 8 X 5, EATON EA 1

BOX, DISCONNECT, 16 X 6 X 8, WELDING, EATON EA 1

CHEMLUBE 201 5-GALLON PAIL 5GAL 1

REFRIGERANT, DUPONT SUVA - 123. 100LB. DRUM. LB 100



WIRE, GCC 12 AWG TYPE XHHW-2 600V XIDE (UL) WHITE ROLL 1

WIRE, 12 AWG  XHHW-2 (CU) VW-1 600V, (UL) E105666 ROLL 1

CABLE, INSTRUMENT, 1PR 16AWG SPL 2

CABLE, 14 AWG FEP 600V 200C DRY SPEC. APP, WHITE SPL 1

CABLE, LIGHTNING CONDUCTOR, 50 H2, SILVER SPL 1

CABLE, E177554 6 AWG 600V GREEN SPL 1

WIRE, 1PR #16 THERMO RX 600V 150 DEGREE C GREEN - 2230' REELRL 1

CABLE, SHIELDED CONTROL, ORANGE SPL 1

WIRE, PHONE,CAT 5,WHITE 4 PAIR 1000 FT/ROLL,SELF SPOOLING REELROLL 1

CABLE, BELDEN 83702 FEP 16 GAUGE SHIELDED SPL 2

CABLE, CONTROL OPTICAL 12 SME (05/07), BLACK SPL 1

WIRE, E76191 RC 6/U TYPE CL2 18 AWG (UL) OR CATV, BLACK SPL 1

WIRE, 1PR #16 THERMO RX 600V 150 DEGREE C GREEN - 2500' REELRL 1

CABLE, BELDEN 5E 1583A CM A4P424 E108998, YELLOW SPL 1

WIRE, PHONE CAT 5 YELLOW 8 PAIR ROLL 1

CABLE, 16 AWG (1.31 SQMM) (UL) 105C, BLACK SPL 1

CABLE, DEKORON INSTR 105C 1PR 16 AWG CU PVC/PVC SPL 1

CABLE, 12MM62.5 FREEDON OFNR (ETL) OFN FT 4 (CSA)T SPL 1

CABLE, CORNING OPTICAL 05-07 12SME FREEDON OFNR FT4 C (ETL) USSPL 1

CABLE, ROME (UL) MTW OR THWN AWM 8 AWG CU 600V E51313SPL 1

CABLE, 1 PR 16 AWG B3198 GREY SPL 1

CABLE, CRANE CONTROL 16/10 SEOW BLACK 250R ROLL 1

CABLE, USA 143 600V 200 DEG C FEP SPL 1

CABLE, 18/3 POLY EHT, BLACK SPL 1

CABLE, USA (UL) 14AWG Z 600V 150C DRY LOCATION SPL 1

CABLE, BELDEN-5 9P259 R362A/U TYPE, E108596 200C 1C22, BLACKSPL 1

CABLE,12 AWG,XHHW-2, (CU) VW-1 600V  RED ROLL 1

CABLE, E177544 (UL) 10 AWG TYPE XHHW-2 600V XLPE, RED ROLL 1

CABLE, ESSEX 12 AWG, TYPE XHHW-2 600V, E1139, BROWN ROLL 1

CABLE, 12 AWG, XHHW-2 (CU)VW-1 600V XLPE, BLUE ROLL 1

CABLE, E177544 10 AWG TYPE XHHW-2 600V XLPE, BROWN SPL 2

CABLE, BELDEN, G 1035A E34972 1PR 16, BLACK ROLL 1

CABLE, BELDEN CM 2PR #22, GRAY ROLL 1

CABLE,ESSEX 12 AEG TYPE XHHW-2  600V E1139 (UL)  GRAY ROLL 1

WIRE, 10 AWG THW VW-1 600V (UL) E140260,  GREEN ROLL 2

CABLE, ESSEX 10 AWG TYPE XHHW-2 600V E1139 (UL) BLACK ROLL 1

CABLE, E177544 10 AWG TYPE XHHW-2 600V XLPE (UL)  WHITE ROLL 1

CABLE, E177544 10 AWG TYPE XHHW-2 600V XLPE(UL) BLUE ROLL 1

CABLE, GCC O-K 12 AWG TYPE XHHW-2 600V XLPE (UL) YELLOW ROLL 1

CABLE, ESSEX 12 AWG TYPE XHHW-2 600V E1139 (UL) ORANGE ROLL 1



LENSE, AMBER WARNING LIGHT EACH 14

CYCLINDER, PNEUMATIC, 2" DIA. 6" STROKE,FOR MDB DOOR 27#EACH 1

BEARING, DODGE 2-15/16" SHAFT TYPE E EACH 14

FAN, IN-LINE BLOWER, LOREN COOK, MODEL GN520 EA 1

SEAL, WATER SEAL FOR 4" BIT, MATERIAL # 207321 EACH 4

INDICATOR, WATER FLOW, DD-WFI, MATERIAL # 305939 EACH 2

KIT, REPAIR FOR SAMSON ACTUATOR, (324401216 WCB, 13119TX02 SIZE 3)KIT 2

KIT, REPAIR FOR SAMSON ACTUATOR, (324401216 WCB, 13119TX01 SIZE 2)KIT 2

VALVE, DIRECTIONAL CONTROL P/N F3-PBDG4S2L-012A-B-60-LH EACH 3

WRENCH, OPEN END 1 1/16" X 1 1/8" EA 1

VALVE, RELIEF P/N CS-06-F-50 EACH 1

VALVE, RELIEF P/N CPF1V-12-F-H-20 EACH 2

VALVE, DIRECTIONAL CONTROL VICKERS P/N DG4V-3-2A-MFPA-WL-B6-60EACH 2

CYLINDER, AIR 1 1/6" BORE 4" STROKE EACH 4

LENS, PILOT LIGHT 22 MM BLUE SQUARE-D ZA2BV06 FOR CRAN-401EACH 6

LENS, PILOT LIGHT 22 MM CLEAR SQUARE-D ZA2BV07 EACH 6

MODULE, PILOT LIGHT EACH 2

LENS, PILOT LIGHT 22MM AMBER SQUARE-D ZA2BV05 FOR CRAN-401EACH 6

RTD, PLATINUM 100 OHMS 24" LENGTH -58 TO 900 DEG F TTEC P/N 1060-A-24-S-BEACH 10

TIMER, MARS SOLID STATE DELAY ON MAKE P/N 32391 (LPC-TANK-9001)EACH 2

SWITCH, DIFFERENTIAL PRESSURE MODEL VD5D.0/V-L115 EACH 2

SWITCH, DIFFERENTIAL PRESSURE MODEL VR2D.0/L115-V EACH 2

VALVE, NEEDLE -4 SAE PORTS EACH 2

VALVE, NEEDLE -8 SAE PORTS EACH 2

LIQUID CO2 VALVE REBUILD KIT , RED HAT EACH 5

PLUG, AMPHENOL MS/STANDARD STRAIGHT MS3106F22-14PW 19 PINEACH 15

PLUG, AMPHENOL MS/STANDARD STRAIGHT MS3106F16-10PW 3 PINEACH 8

VALVE, BALL -24 SAE PORTS EACH 2

ASSEMBLY, REMOTE TEST STATION SYSTEM SENSOR P/N RTS451 EACH 3

VALVE, PRESSURE REGULATOR 1" NPT THREADED UNION FEMALE 25-75 PSI RANGEEACH 2

RING,SWIRL,MILLER ICE-55C PLASMA TORCH,P/N 192049. EACH 16

TIP,CONTACT ADAPTER,MILLER:M25/25M,M40/40AL,P/N 169728.EACH 2

ROD, BLADDER PULL ACCUMULATOR EACH 2

TOOL, VALVE CORE ACCUMULATOR EACH 2

WRENCH, SPANNER ACCUMULATOR EACH 2

VALVE,FLOAT FOR ALKOTA 4308 PRESSURE WASHER,P/N C03-99620-M.EACH 2

METER, DIGITAL PD680 LOOP POWERED 4-20 INPUT 3.5" DIGIT LCDEACH 2

THIMBLE, WIRE ROPE 3/16" SS EACH 6

VALVE, BALL 3/4" 150# FLANGED CS BODY SS BALL & STEM 2 1/4" STEM EXTENSIONEACH 12

WIRE, 4 TRIAD #20 300V 105 DEGREES CELSUIS FT 1758

OIL, LUBRICATING ISO VG 320 MOBIL SHC 632 55 GAL DRUM DRM 5

COOLANT, ULTRA FOR I-R COMPRESSOR DRM 2



GLYCOL, PROPYLENE, PER CAS 57-55-6, 100% PURE,CLEAR NO ADDITIVDRM 2

OIL, SYNTHETIC ISO VG 32 PAIL 3

HOLDER, FOR CORE BORE MACHINE EA 1

FILE, BAND EACH 1

CORD, 12/3 600V SPL 1

TOOLBOX, METAL, SINGLE TRAY, KENNENDY EACH 4

OIL, HYDRAULIC ISO VG 46 MOBIL PAIL 3

OIL, LUBRICATING I-R COMPRESSOR P185WJDU PAIL 1

OIL, SYNTHETIC ISO VG 68, MOBIL DTE HEAVY MEDIUM, 5 GAL PAILPAIL 3

OIL, SYNTHETIC FOR BAUER COMPRESSORS P/N OIL-0024 QT 12

FLUID, THREAD CUTTING GALL 2

GREASE, MOBIL MOBILITH SHC PM PAPER MACHINE GREASE FOR BRA SWIVEL JOINTSTUBE 10

OIL, ISO GRADE 32 HYDRAULIC, ENERPAC # HF-102, 2-1/2 GAL.CONTAINEREACH 1

LUBRICANT, O-RING -85DEGREES TO 350F EA 11

OIL, COMPRESSOR SUNISO 3GS SPECIALTY LUBRICANT GALL 6

NEUTRALIZER, CAUSTIC SPILL X-C, 5 GAL BUCKET EA 2

COOLANT, SSR ULTRA 5 GALLON BUCKET PAIL 2

GREASE, HIGH TEMP NLGI GR 1 MOBIL TEMP 78 PAIL 4

GREASE, HIGH TEMP NLGI GR 1 MOBIL TEMP 78 PAIL 5

OIL, SYNTHETIC ISO VG 150 MOBIL SHC 629 PAIL 5

OIL, SYNTHETIC ISO VG 150 MOBIL SHC 629 PAIL 4

ELECTROMAGNET EACH 1

SHELVES/BRACKETS,MCC CUBICAL.BRACKET HANGERS TO GO W/DOORS.EACH 2

DOOR, BLANK,  MCC CUBICAL, 6" EACH 3

DOOR, BLANK, MCC CUBICAL 18" EACH 6

DOOR, BLANK, MCC CUBICAL,  24" EACH 1

DOOR, BLANK MCC CUBICAL, 12" EACH 2

BODY BELT, DOUBLE D-RING, XL TITAN EA 8

BATTERY, BEST POWER BAT-0058 UPS BATTERY EA 1

KEYSTOCK, 5/8" SQUARE C1018 GROUND 3' LONG PIECE PC 3

VALVE, SOLENOID MAC 58D-12-111CA EACH 2



THERMOMETER, 5" DIAL 50/300 24" EACH 2

HOSE, REPLACEMENT DAYTON, VACUUM, 2-1/2" X 8' EACH 8

ELEMENT, FILTER AIR INLET  P/N: 105-9741 EACH 4

COIL, EVAPORATOR EA 1

GASKET, 60" X 60" X 1/16" TK GARLOCK 3700 EACH 6

BATTERY, BACK-UP HOIST EACH 1

BOTTLE, 500ML NALGENE WIDE MOUTH CASE 7

CONDULET, 1" LL100-M EACH 2

BREAKER, EDB34020 EACH 2

PIN, 2 HOLE FLANGE EACH 3

WHEEL, BRUSH 12" W/2" ARBOR EACH 2

WHEEL, BRARAZON, 100 GRIT 6" X 3/4" X 1 1/4" EACH 1

GOGGLE, ENCON, P/N 43911 EACH 5

KIT, TRANSMITTER AND RECEIVER CONTROLLER, P/N 900-012 EACH 2

GASKET, MATERIAL EPDM RUBBER BLACK 1/8" TK FT 17.83

VALVE, BALL 1 1/2" RAISED FACE FLANGE WITH ACTUATOR EACH 1

METER, CONDUCTIVITY MODEL 0135A3 EACH 1

METER CONDUCTIVITY TESTER EACH 1

BELT, MASK CARRIER LARGE EACH 17

BELT, MASK CARRIER MEDIUM EACH 5

PUMP, PERISTALTIC EACH 2

REGULATOR, HEWLETT-PACKARD 5183-4645 EACH 1

REGULATOR, AIR PRODUCTS E11-2150 EACH 2

REGULATOR, HEWLETT PACKARD 5183-4642 EACH 1

VALVE, GAS PRESSURE, P/N UPE375580* EACH 2

VALVE, GAS PRESSURE AND SHUTOFF, P/N APE375580 EACH 1

VALVE, GAS PRESSURE AND SHUTOFF, P/N 2062011-320 EACH 1

REGULATOR, AIRGAS P/N Y11-215D346 EACH 1

GAUGE, GAS PRESSURE, P/N 1503817 EACH 3

GAUGE, GAS PRESSURE, LARGE EACH 3

REGULATOR, GAS, P/N UPE375350 EACH 2

REGULATOR, SCOTT SPECIALITY GASES P/N 5111A590 (11A) EACH 1

REGULATOR, AIR PRODUCTS E11-2150 EACH 4

REGULATOR, GAS, P/N UPE375590 EACH 1

REGULATOR, GAS, P/N SG3504B EACH 1

CAMERA, SPEC181NSS STAINLESS STEEL FIXED W/SS QD CONNECTOREACH 2

LENSE, AMBER WARNING LIGHT EACH 180

SEALANT, ADHESIVE EACH 1

BATTERY, 6V DC EACH 1



CYLINDER, AIR 2" BORE X 6" STROKE FLANGE MOUNT EACH 3

CYLINDER, HYD 3-1/4" BORE X 37" STROKE EACH 3

LAMP HEAD, EMERGENCY FLOODLIGHT PAR 36 EACH 26

STARTER, FLUORESCENT CIRCLELINE LAMP FS22 EACH 6

BATTERY, B-741 2.4 VOLT 1500MAH-VTECH CORDLESS PHONE EACH 5

BATTERY, 3-VOLT LITHUM BATTERY,PANASONIC EACH 4

LAMP, INCANDESCENT, EDISON BASE 75W 120V CLEAR EACH 12

LAMP, INCANDESCENT TUBLAR MED BASE, 60W T10 120V EACH 10

LAMP, METAL HALILDE, 400W, MOGUL BASE SYLVANNIA MH 400/U/ED28EACH 4

LAMP, INDICATING, GREEN 28V 20MA ULTRA MINIATURE EACH 4

LAMP, INDICATING, RED 28V 20MA ULRA MINIATURE EACH 4

TANK, MAINTENANCE FOR EPSON 9880 EA 6

BOX, 2-GANG FD22 EA 2

COVER, LOCKABLE SWITCH EA 10

CONNECTOR, CONDUIT 3/4" 90 DEGREE LIQUID TIGHT EACH 3

GLAND, COMPRESSION 3/4", 6075S EA 6

BOX, 3/4" FSCD2, 2 GANG EACH 2

BOX, DEVICE 1/2 SINGLE GANG MI EACH 4

CONDULET, 3/4" LB75-M EA 5

CONDULET, LL200-M75-M EA 2

ENCLOSURE, HEAVY DUTY 800H EA 3

CONNECTOR, LIQUID TIGHT, 90 DEGREE BOX 4

NIPPLE, PIPE 3/4" CLOSE GALV EACH 1

CLAMP, BEAM 3/8 EACH 4

BOX, DEVICE 1/2 SINGLE GANG MI EACH 4

GLAND, COMPRESSION 3/4", 6075S EA 6

CONDULET, 1 1/2" T150-M EACH 8

UNION, 2" EA 20

BOX, 3/4" 2-GANG FDS222 EA 18

MISC CONNECTORS AND PLUGS BOX 1

BOX, 3/4" SINGLE GANG OUTLET FDX2 EA 4

CONDULET, 2" LB200-M EA 4

TEE, 3/4", CONDUIT BODIES, APPLETON T75-M EACH 9

FITTING, ELECTRICAL 2" MI BOX 7

ENCLOSURE, NEMA 3R, 3/4" BOX 1

COUPLING, 2"-1" CONDUIT, REC603 EA 10

COUPLING, 2"-1" CONDUIT, REC603 EA 10

BALLAST, ELECTRONIC START, 1CF-2S13-H1-LD EA 2

CONDULET, 1" LL100-M EA 1

BOX, ELECTRICAL, 4X4X3 EA 1

CONNECTOR, 3-CONDUCTOR, 2-HOLE MOUNT EA 1

CONDULET, 3/4", 3 GANG BOX EA 1

CONDULET, 1 1/2", C58 EA 1



BODY, 1 1/2" FORM 35 EA 1

CONNECTOR, CONDUIT 1/2" 45 DEG LIQUID TIGHT EACH 2

CONNECTOR, CONDUIT STRAIGHT 3/4" EACH 1

COUPLING, REDUCING, 1 1/2" X 3/4" BR15075 EA 2

SCREW, WOOD, FLAT SQUARE DRIVE, #10 X 3/4" EA 3

COVER, GFI RECEPTICAL, FSKWGFI EA 1

CONTROLLER, 208-277 VAC BOX 1

BLOCK, DISTRIBUTION PDB-16-210-1 BOX 1

CONDULET, 1 1/2" LB150-M BOX 1

COUPLING, EC-100 BOX 1

SPACER, 3/4" CONDUIT BOX 1

CONTACTOR, 110/V540/12060HZ, 3 POLE BOX 1

LIGHT, SQUARE D, 9001S2KP35Y31 EA 3

CONNECTOR, 1" TW-100CS BOX 1

COUPLING, PIPE 1-1/2" GALV EACH 2

ENCLOSURE, NEMA 3R, 3/4" BOX 3

COUPLING, REDUCING, 1 1/2" TO 3/4" BR15075 EA 1

COVER, SWITCH, DS 1283 BOX 1

ASSEMBLY, TERMINAL BOX 1

SENSOR, VALVE, 3R-LS2-17 EA 1

ETHANOL 95% ANHYDROUS DENATURED (SDA FORMULA 3A) PHOFREX REAGENT 90-95% ETHCASE 4

ETHANOL 95% ANHYDROUS DENATURED (SDA FORMULA 3A) PHOFREX REAGENT 90-95% ETHCASE 1

CYLINDER, EI DRAWOUT EACH 3

CARTRIDGE, BLACK INK RIBBON, ERC-09 FOR PH METER EPSON M16/18/19EACH 2

BOARD, BATTERY EACH 5

LAMP, MINIATURE, BAYONET  #1820 EACH 23

BULB, LIGHT HEAT TRACE, LED EACH 4

SLING, 1" X 8' EACH 10


